Section 13.5

3) w=sin(x—4t);  x="5t; y=4

dw _ow dx 6Wdy
dt ox dt oy dt

Find —

4) w=x>+y*+2% x=5t; y = 4t; z=3t

Fing W dw _ow dx 8Wdy ow dz _

dt ox dt 8ydt oz dt



6) w=cos(4x+3y);

X=S+t;

y=s-t

7) X2 +5xy -y  —x+y=0

a) F(x,y)=_2

b) F(xy)=_2

C)F,(xy)=_2

dy__

d y'=

dx F

8) cos(xy)+tan(xy)-12=0

a) F(x,y)=_2
b)Fx(X’y): ?
c)F, (xy)=_2
F
0 y= Y-

dx F, (x,y)




9) 3xy+5yz+2°-3=0

a) F(x,y,z)=_72 b)F (x,y,z)=_2
o)F,(xy,z)=_2 d)F,(x,y,z)=_2
o 2__Flxvy) na_ Fyz)
x  F(xvy.2) o F(xyz)
10) e’ cos(y+x)—4z=0
a) F(x,y,z)=_72 b)F (xy,z)=_2
o)F,(xy,z)=_2 d)F,(xy,z)=_2
e)@:_Fx(x,y,z): ) f)@:_Fy(x,y,z):
x  F(xv.2) o F(xyz)




